. A y o
{s <. D o
S\ < ‘\\Rum%we.
K/A// /lha.\vlv\% Y
\ / 7




8055N

E1

390cm

E2

90°

340cm

E3

180cm

240cm

5 .
£ £ 2. '
S S — ° .
) 2] °
-~ - . °

M
141cm

28cm

142cm

x10

E13

E14

80cm

X1

89cm

X1

89cm

x4




8055N

N S © S
* ¢ X 0 -
> Mi w@ m
e yl e
o0 — Y < N
r— (Q\| (Q\| (Q\
LLI LL] LL] LL]
~— AN ~— ~— ~—
X X p X >
=i | 'w
N ) Ho9E o s 'de) o -
— Al Al Al Al
LL] LL] LL] LL] LL
- 3 2 = <
; = <
© ;-_. w/:\ : .
t TN = .
LL » N LO o)
— Al Al Al
LL] LL] LL] LL]




8055F

E1 . E2 | E3
2 8
E4 ES
X1
E8
X1
E1-
X10
E13 E14
X1 X1 . x4




8055F

. x © x
N X - -
: | o]
e yl
o0 — Y < N
r— (Q\| (Q\| (Q\
LL] LLI LL] LLI
~— AN ~— ~— ~—
X X p X >
- _n e »
+~— o\ Al Al o\
LL] LL] LL] LL] LLI
- 3 2 = <
< = »;
h ._-_.-_ \, e
. . N\
© mj. w/'\ ;
t TN
LLI » N LO o)
— Al Al QN
LL] LL] LL] LL]




8055N 8055F

Nr Element 3 2

1 - S6x60 338 338
2 @ - W6x60 317 317
3 - K2_d30_B 1 1

9 = ISO7380 | M6x25 46 46
10 DIN 9021 6x18 26 26
14 (== ISO 7380 | M6x12 6 6

16 @ - K1_d21_B 30 30
17 @ - Z1_d21_B 30 30
18 (@ DIN 985 M6 26 26
20 sy | DIN571 8x80 4 4

21 DIN 125 8x16 119 127
22 DIN 125 6x12 88 96
24 — ISO 7380 | M6x16 16 24
25 | — ISO 7380 | M6x35 20 20
26 Dovssssave— - S4x40 32 32
29 Ee - K—%’i%g - 14 14
58 % - LOCTITE 1 1




8055N 8055F
Nr Element 2 2
61 ﬂ - KL105 58
109 DIN 913 10x10 20 20
J e |
146 o DIN 7991 M6x12 32 32
147 Co - M6x10 94 102
148 - CONET ECO 16 16
149 - ALUZ SD 10 10
181 ) FSOXQ_GS_P E_ 16 16
213 - Z NA_1 1 1
214 - ZNA 2 1 1




!‘

JP@'_ ﬁ.\

/ 4\\.n\o N \\@ \.\llwn.®|.
. ./. == K ‘
@ : ® Qk@ll. I aﬁﬁ////

8055N
8055F

AN w/@u @ 2 w,m,,,... 2

= AMAMP > N\
i \..\vw% 2 X

O\\ I




8055N

8055F I l

8055N o
@ 8055F o o

A
INST_80_2

A o e
bl o




8055N T
8055F | I

INST_80_19

INST_80_17 4,

8055N
@SOSSF

f INST_80_1

INST_80_8

‘/ INST_80_1
4’




8055N
8055F

INST_80_45




8055N
8055F

200

100

100

150

575

945

170
197
170
12
o
o 0
= 2 -
_/__/
523
893
134 80 184
o
[aV}
o N~
8 &

20

88

137

71

e

93




5

L 60 20 I
oo |
T
Mllu]l
10
120

=

2K
10

a 2
o
LG | Yo
& 4 R
i B ..__...~ ®

NGS08




= LT

=

I l|| .:..
10

o

_!@ e

4GG08




7
iovor<a

S

W//'/\ 3 y Xk Q&M\M

7/4 /2

7 .W\

=2l




8055N

@ 40cm

i

B15 0,5m° min. 24H

=
|

el







